lIIll-Ill'lIllI.-Iﬁl‘I-.I-Iﬁl-.l-.-.li-dilthillllllﬂibhﬂ;iil
LT L L ]

Lty
ra
(=t )
L.
e
L]
&
Cd

GHOST S1 Mk I
LQ-GHS103-CA

USER MANUAL (ENG)







GHOST ST Mk 11l USER MANUAL

* Note

BOX CONTENT

This PC case is made of aluminum.

Therefore, tightening the screws too hard may damage or damage the screw holes.

We are not responsible for any damage to the screw holes.

Please be careful when handling it.

VLOLTVVTLLIVVOVSIVSO.

YOSOOSNNNNO00SNNS0000S,

B O R LR

SUOS0000000S0eS0SN0S!

oS

TR

QOSSN0 0000000000S0008S.

R

Ghost S1 Mk Ill case

Top Plate / mounting platform

(for use with TopHat)

T10 torx key

% 8x M3x6 countersunk % 4x M3x6 button head

% 8x M3x4 button head

4x #6-32 UNC

®)

Designed in Sweden

LOUQE AB

hello@louge.com www.louge.com



GHOST ST Mk 11l USER MANUAL

¥

ILLUSTRATION

SCREWS

ASSEMBLY STEPS

PP H#

* Unscrew the 8 countersunk screws that hold

the grill
- Lift the grill away by pulling the rag tag in the

back

Designed in Sweden
hello@louge.com www.louge.com

LOUQE AB



GHOST ST Mk 11l USER MANUAL

ILLUSTRATION

oS SoCaS,
S0 20T0X
SSoSoCoSok
e OO0
oS0 20So802S
=
E O OO O =G 00 =5
O O R R R RS
Lo eCo202020 020 e SoRo oS00
B e e SO S
=S & SIS
=5 S CoSo

00

(R
255555
LSS

000

R

O )

SS0202e2e205050
=

ASSEMBLY STEPS SCREWS

* Unscrew the 4 bottom screws that are holding
down the side panels

LOUQE AB
Designed in Sweden
hello@louge.com www.louge.com



GHOST ST Mk 11l USER MANUAL

ILLUSTRATION

T R
R RRIREERIN
R SRR RRIRN
R R TR SERSR
R RSN
R
B SO SRR,
R R SRR N
SRR

SOS00N! OOS!
RS SOSD00D

R SSSERRRRRREEESRRERENR

Y :
RN ey
R
SRR
RN ey
R .
R
,,, 00000000000000%%%%%%00
T
R

SCREWS

ASSEMBLY STEPS

> 9 p @

* Pull the side panels straight up and put them

aside

Designed in Sweden

LOUQE AB

hello@louge.com www.louge.com



GHOST ST Mk 11l USER MANUAL

ILLUSTRATION

S &, g
I ) 5§~ i
XS byshﬁif’
Q ur o O
(0N ® @W
0
ASSEMBLY STEPS SCREWS

* Unscrew the PSU bracket

LOUQE AB
Designed in Sweden
hello@louge.com www.louge.com



GHOST ST Mk 11l USER MANUAL

ILLUSTRATION

«®

ASSEMBLY STEPS

* Screw the PSU bracket onto the PSU using 4
#6-32 UNC screws

« Put the mounted PSU and bracket aside

LOUQE AB
Designed in Sweden
hello@louge.com www.louge.com

SCREWS



GHOST ST Mk 11l USER MANUAL

ILLUSTRATION

ASSEMBLY STEPS SCREWS

* Install the motherboard 1/0 shield (optional)

CC O

LOUQE AB
Designed in Sweden
hello@louge.com www.louge.com



GHOST ST Mk 11l USER MANUAL

ILLUSTRATION

ASSEMBLY STEPS SCREWS

* Install the motherboard and screw it in place

« Push the Riser cable connector into the PCl-e
port on the motherboard

LOUQE AB
Designed in Sweden
hello@louge.com www.louge.com



GHOST ST Mk 11l USER MANUAL

ILLUSTRATION

—_—— B

ASSEMBLY STEPS SCREWS

 Connect the LED and power switch cables

CECACRC

LOUQE AB
Designed in Sweden
hello@louge.com www.louge.com



GHOST ST Mk 11l USER MANUAL

ILLUSTRATION

ASSEMBLY STEPS

* Connect the power cables needed to the PSU
and feed them to the approximate position

* Screw the PSU bracket back in place

* Connect the 24-pin power cable to the
motherboard and the CPU power (if needed)

LOUQE AB
Designed in Sweden
hello@louge.com www.louge.com

SCREWS



GHOST ST Mk 11l USER MANUAL

ILLUSTRATION
&
®
ASSEMBLY STEPS SCREWS

« Unscrew the GPU cover plate

* Remove the bottom flat nut

LOUQE AB
Designed in Sweden
hello@louge.com www.louge.com



GHOST ST Mk 11l USER MANUAL

ILLUSTRATION

ASSEMBLY STEPS SCREWS

bottom flat nut in place

- Slide in the GPU cover plate in place and screw
it tight with the top flat nut

X2
)
J;

* Mount the GPU and fixate it by screwing the %
 Connect PCl-e power cables if needed

)

LOUQE AB
Designed in Sweden
hello@louge.com www.louge.com



GHOST ST Mk 11l USER MANUAL

RS
ERRRERRR
DOSOOCO!

SOSSOOS,
OOCOO0S.

Q

YOO 00N00NNSH00000R0S

SOSSOOSIOOIVOICOIOOI0S
P S T TN R Y
O R SRR RO BB RS

S 009

DAOOVTVVVVD: _SOSS TSNS Y
DVDVVVVOVOVV 200V 0! R Q0 w R

O OO OB S DRSS

VOOV VVVVOVVOV OV O [OVVOTTV0OD! 00! S
RN EE TSN NN TN
DOVVOVTOCDOCSD! TUVOTTVOAVVATTADOVIDTS

NN EINNNNNSY AR NN S
VUV COVCSCSVOVV! QUOTTVTSTVVTTDOCTOVVOS
PRI NSRNNNNNANY NSNS NSNS
0000%% 00000 QOOTVTOVVVVTDOCVTOVVDS
ISR NN BRSNS NSNS

P T Y

Q!
SRR

RS R R R R
I Y T N RN T RSN
waoww%aooa N QUVOTOVATVVTTDOVVDVOT
0000 0000000000 Q! QOVIVV! Q000D
ooooo%moomoomoWMMMooaooooooom S RS ORI,
oooooaoooomoooooooaooooaoo R RS SS
QOV0ATVVVVVVVDAVVVCS

R

B O R R

R RIS &) SO0000O0O0VOVVOVTVVVOS
ooooo%ooooowwm%oaoooo%%o
R Y
WWMMMOOWMMMOMOMOMMWMWMaoo N
R T R LY
T

oS
SOSVTOOIO OO0,
REEIENREENRINNNNR

R

SOSS 000000880
R R R R

R RS

DOV VOVO OO OO OO
SRR
R RREERREERERRR

SOSO00000S0SSS0S80080S,
TOCTTTOUTOITTOITOOTOO

ILLUSTRATION

SCREWS

ASSEMBLY STEPS

> 9 p @

« Slide down the side panels

Designed in Sweden

LOUQE AB

hello@louge.com www.louge.com



GHOST ST Mk 11l USER MANUAL

ILLUSTRATION

o
=S,
oSS0,
555558,
0202020502020,
P e e I
B S S SO N0

O
(=) O,
OO,
CaCaCACA,
O CnCnCnCAC, O
O ACAC AP ACACCACACACACACACAC OO, =)
OO E e AR CeoeoeoE0a0e50;
S, o D e o i e o ey = Do o o B = = o = S = S = ©
O S S, =)

=
o5 oS oS00020 oS
O O OO SO SOEOROR0OX °ogo°ogg°o°ogg°
O e IOy
RSN

ASSEMBLY STEPS SCREWS

* Fix the side panels to the case with countersunk
screws from the bottom

LOUQE AB
Designed in Sweden
hello@louge.com www.louge.com



GHOST ST Mk 11l USER MANUAL

LR

ILLUSTRATION

VVVTVTOCTLTTCSOOVVVOOS

202

o
!
S
S

S
!
&

SCREWS

ASSEMBLY STEPS

Il onto the case using 8 countersunk

* Screw the gr

SCrews

Designed in Sweden
hello@louge.com www.louge.com

LOUQE AB



(O

LOUQE AB
Designed in Sweden
hello@louge.com www.louge.com




